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P = 6 

(85,7%) 

Monitoring 
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R = 0 
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R = 35 

(60.34%) 

P = 23 

(39.66%) 

T = 68 

(100%) 

R = 21 

(30.88%) 

P = 47 

(69.11%) 



Investigator 

Meeting 

T = 2 

(100%) 

R = 2 

(100%) 
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(100%) 

R = 5 

(100%) 

P = 0 

(0%) 

T = 1 

(100%) 

R = 1 

(100%) 

P = 0 

(0%) 

T = 21 

(100%) 

R = 17 

(80.95%) 

P = 4 

(19.04%) 

T = 14 

(100%) 

R = 14 

(100%) 

P = 0 

(0%) 

T = 23 

(100%) 

R = 23 

(100%) 

P = 0 

(0%) 

First patient 

in/last 
1/0 0/0 0/0 1/1 1/1 1/1 1/0 1/1 1/0 0/0 0/0 0/1 1/0 1/1 0/0 1/0 0/0 1/0 4/3 3/2 4/1 

   COV: close out visit; T: total; R: remote; P: on site; -: not applicable 


